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GCSE French: Home, town, neighbourhood and region
(Foundation and Overlap)

MARK SCHEME
Q1. Accept Mark
B 1
D 1
A 1
[3]
Q2. Accept Mark
1 B 1
2 A 1
3 B 1
4 | A 1
[4]
Q3. Accept Mark
1 E 1
2 D 1
3 F 1
4 A 1

[4]
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GCSE French (F&O)

Home, town, neighbourhood and region — MARK SCHEME

Q4.

Accept

Mark

Reject

Advantage

(Lots of / choice of) fruit /
vegetables in the market(s) /
stalls

Disadvantage

No / not many few / hardly any /
not enough trees.

2

Reject: shop(s) / supermarket(s)
without ref to markets

e.g. fruitin shops = 0, but fruit in
shops and markets = 1

lots of trees / no greenery

Advantage

Less / low / not much
unemployment / easier to find
work

Disadvantage

Dangerous / unsafe / scary (to
go out) at night / when it's dark /
in the evening

Reject: No unemployment / lots
of jobs
dangerous tc

Advantage

Things are not expensive / are
cheap(er) (in the shops)
Shops are not expensive / are
cheap(er)

Disadvantage

(Difficult to) rent / find / afford
somewhere to live / stay /
housing / a flat / apartment /
house

Apartments are expensive

Reject: not expensive / cheap tc
Any specific item or shop e.g.
shoes are cheap / markets are
cheap

Accept

Mark

A WIN| =

> 0| WO

_— - -

Q6.

Accept

Mark
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GCSE French (F&O)

Home, town, neighbourhood and region — MARK SCHEME

Q7.

Accept

Mark

1

1

1

Accept

Mark

P/N

A | WINI=

P/N

_— | | - -

Q9.

Accept

Mark

A EHI (in any order)
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